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2R | #E [ XIMPE FAZR HEEL | BXIMP| 55140 | 55240 | 55340 | 55440 | 555450 | 55640 | SE 740 | 55840 | 55950
1 | #himk | 0.77 BN 2R 60 46 7 -10 | 50 -4 3
1 | BE| | 0.77 BN 23R 60 46 7 -10 | 50 -4 3
3 | BRLEE | 0.74 T INETHR 108 80 25 | 30 0 6 3 17 | -30 1 28
3 | Y| 0.74 T INETAR 108 80 25 | 30 0 6 3 17 | -30 1 28
5 | G’k | 0.6 IEERE 48 29 3 24 4 -2
6 PH | 0.58 BREE 12 7 7
7 | 244 | 0.53 IEERE 36 19 -19 | 26 12
8 | EEE| 0.5 EERY 84 42 5 3 -6 7 30 5 -2
9 | %= | 0.45 TR 108 49 -19 | 26 5 3 -6 7 30 5 -2
10 | XU | 0.43 RIEE 96 41 1 30 | 46 -9 16 | -44 | -1 2
11 | i9BEX, | 0.33 EERR 108 36 -8 | -25 2 26 12 3 24 4 -2
11 | defERE | 0.33 [E2E3ap) 60 20 0 -26 | 26 16 4
11 | 3KFP#E | 0.33 [EEE3Ip) 60 20 0 -26 | 26 16 4
14 T 0.31 [EaR=37IA) 84 26 40 2 -11 -3 10 -12
15 | BMe | 0.28 BN 23R 72 20 25 | 41 | -30 | 16 6 12
15 | B{S3z | 0.28 [E2N=rrIpa| 96 27 40 9 -11 -3 10 | -12 3 -9
17 | {afEiE | 0.24 == 96 23 -5 41 37 -7 -3 | -15 3 -28
17 | 3K&EFE | 0.24 == 96 23 -5 41 37 -7 -3 | -15 3 -28
19 | {azgh | 0.23 T Aert 108 25 26 | -6 4 16 6 30 -7 -3 11
19 | R | 0.23 BMNEZR 60 14 25 | 41 | -30 | 16 12
21 = 0.19 ighE 48 9 18 -2 -4 -3
21 | HERE | 0.19 EBEh 48 9 -9 9 -6 15
23 | 22 | 0.17 FIES 60 10 -1 -4 10 -7 12
23 | #AiEk | 0.17 FUES 60 10 -1 -4 10 -7 12
25 | B% | 0.16 Sl 96 15 19 -9 29 | -37 | -2 -4 7 12
26 | KM | 0.15 ¥ighs 72 11 19 -9 29 | -37 12 -3
27 | Bk | 0.08 S |E=i 96 8 26 1 19 | -17 | -26 4 2 -1
28 | 3/pA | 0.02 I Aert 84 2 20 | -41 -6 6 -1 18 6




29 H% | -0.04 "5 S 48 -2 19 -5 12 | -4
30 | Z=@F | -0.05 RIEE 96 -5 20 | -41 | 30 | 46 16 | -44 6 2

30 | &#zE | -0.05 T 5ERt 108 -5 -26 -6 5 16 | -12 | 30 -7 -16 | 11
30 | BREEL | -0.05 EBEh 84 -4 -9 -7 9 -6 15 3 -9
33 | EX | -0.08 (1 84 -7 40 | 25 -16 | -11 44 -3 -6
34 | {G&s | -0.09 IR 96 -9 9 26 | -18 | 32 -8 15 -2 -11
35 | #EELT | -0.1 IR 48 -5 -8 | -25 2 26

36 | @&k | -0.12 A 108 -13 9 26 | -18 | 32 -8 15 -2 -4 | -1
37 | &t | -0.14 A 96 -13 25 | 29 | -16 | -11 | -17 | 44 -3 -6
37 | &Efe | -0.14 IR 36 -5 4 -6 -3

39 Y& | -0.22 T 5ehd 96 -21 20 -41 5 -12 -1 18 -16 6

39 | {APeT | -0.22 ghE 108 -24 8 7 18 | -15 -3 -16 | -18 | 16 | -21
39 | K= | -0.22 "5 S 96 21 5 19 -5 17 8 1 50 | -16

42 | g% | -0.32 RIEE 96 -31 26 | 41 | 19 | -17 | -26 4 2 2

43 | {B{&88 | -0.38 BN R 96 -36 -3 6 219 | -32 | -10 6 -5 21
44 | tgE= | -0.44 R E 48 -21 -20 -9 6 2

44 | 22 -0.44 BRghiE 96 -42 8 7 15 | -3 | -16 | 18 | 16 | -21
46 | JCEEEE | -0.46 "5 S 84 -39 5 17 8 1 50 | -16 | -4
47 | #h4OR& | -0.5 BN =R 84 -42 -3 6 219 | -32 | -10 -5 21
48 | 3% | -0.51 T INETAR 108 -55 3 219 | 11 | -16 2 -15 | 24 | -6 9

48 | gLl | -0.51 T INETAR 108 -55 3 219 | 11 | -16 2 -15 | 24 | -6 9

50 5= | -0.53 dES 60 -32 -37 -5 15 4 -9
50 | =& | -0.53 chil S 60 -32 -37 -5 15 4 -9
52 | ®=E% | -0.66 "B S 96 -63 37 | 30 | -2 | -46 | 11 | -30 | -12 9

53 | SR4IE | -0.69 "B S 108 -75 37 | 30 | -2 | -46 | 11 | -30 | -12 | -12 9

54 | /&£ | -1.88 B4 48 -90 -40 -29 -17 -4




